## BID PROPOSAL

BY

DLS Controcting, Inc
(Bidder's Name)

30 Montosano Road Fairfield, NJ 07004

TO THE

### MAYOR AND COUNCIL

(Owner's Name)

BOROUGH OF MONTVALE, BERGEN COUNTY, NEW JERSEY

**FOR** 

## 2020 ROADWAY IMPROVEMENTS PROGRAM

The UNDERSIGNED, as bidder, declares that the only persons or parties interested in this proposal as principals are named herein; that this proposal is in all respects fair and without collusion or fraud; that no officer or employee of the OWNER is directly or indirectly interested in this bid or the work of this contract or in any portions of the profits thereof; that he has carefully examined the annexed proposed Forms of Contracts and Instructions to Bidders, the Notice to Contractors, the Special Provisions, and the General Conditions; that he or his representative has made a personal inspection of the site of the proposed work; and that he proposes and agrees that if this proposal is accepted, he will contract with the above-named OWNER, in the form of contract hereto annexed, and to provide the necessary machinery, tools, apparatus, and other means of construction and to furnish all the materials, equipment and labor as specified in the contract in the manner and time therein specified, and according to the requirements of the Engineer as therein set forth, and that he will take in full payment therefore the following prices to wit:

NOTE: Complete and submit the loose, unbound copy of this Bid Proposal only.

#### PROPOSAL FOR

## 2020 ROADWAY IMPROVEMENTS PROGRAM

## BOROUGH OF MONTVALE

BERGEN COUNTY, NEW JERSEY

THE UNDERSIGNED DECLARES THAT THEY HAVE READ AND UNDERSTAND THE PLANS AND SPECIFICATIONS AND PROPOSES TO FURNISH ALL LABOR, MATERIALS AND EQUIPMENT NECESSARY TO COMPLETE IN EVERY DETAIL THE WORK INDICATED ON THE PLANS AND/OR CUTLINED IN THE SPECIFICATIONS, AT THE PRICE QUOTED HEREIN.

BASE BID - VARIOUS ROADS

ITEM	DESCRIPTION	<u>139427</u>	QUANTITY	UNIT PRICE	EXTENDED PRICE
1	SOIL EROSION AND SEDIMENT CONTROL MEASURES	3,1	1	1.00	1.00
2	TRAFFIC CONTROL MEASURES AND DEVICES	Es	1	2500.00	2500.00
3	POLICE TRAFFIC DIRECTORS	MANHR	120	\$119.00	\$14,280,00
4	FUEL PRICE ADJUSTMENT	DOLL	2,306	\$1.00	\$2,369,06
5	ASPMALT PRICE ADJUSTMENT	DOLL	3,100	\$1,00	\$3,180.00
£	CLEARING SITE	LS	†	19,529.00	19,529.00
7	HIMA MILLING, 3" OR EESS	SY	37,561	4.25	159,634.25
â	HOT MIX ASPHALT PAVEMENT REPAIR	SY	5,536	1.00	5536.00
9	HOT MIX ASPHALT 9.5M64 SURFACE COURSE, 2" THICK	TÓN	5,126	80.00	410,240.00
10	15' REINFORCED CONCRETE PIPE, CLASS V	LF.	60	80.00	4800,00
11	15" HIGH DENSITY POLYETHYLENÉ PIPE	LF	60	50.00	3000.00
12	INEET, TYPE '8'	UNIT		3000,00	12,0000
13	RESET EXISTING INLEY CASTING	UNIT	†9	1.00	19.00
14	RESET EXISTING MANHOLE CASTING	UNIT	42	1.00	42.00
15	RESET MANHOLE USING NEW CASTING	UNIT	11	650.00	7,150.00
16	RECONSTRUCTED MILET, TYPE 8, USING NEW CASTING	UNIT	3	/500.00	4500,00
17	BICYCLE SAFE GRATE (PHASE II: STORMWATER COMPLIANT GRATE)	UNET	16	300.00	5,400,00
18	CURB PHECE (NJIDEP TYPE 'N' ECO)	UNET	31	300,00	9300.00

# PROPOSAL FOR 2020 ROADWAY IMPROVEMENTS PROGRAM

# BOROUGH OF MONTVALE

BERGEN COUNTY, NEW JERSEY

THE UNDERSIGNED DECLARES THAT THEY HAVE READ AND UNDERSTAND THE PLANS AND SPECIFICATIONS AND PROPOSES TO FURNISH ALL LABOR, MATERIALS AND EQUIPMENT NECESSARY TO COMPLETE IN EVERY DETAIL THE WORK INDICATED ON THE PLANS AND/OR OUTLINED IN THE SPECIFICATIONS, AT THE PRICE QUOTED HEREIN.

19	REPAIR INTERIOR OF URAINAGE STRUCTURE	UNIT	55	400.00	22,000.00
28	STORM MANHOLE, DOGHOUSE, 4" DIAMETER	UNET	2	3000,00	(0,000.00
21	CONCRETE SIDEWALK, 4" THICK	\$Y	120	80.00	9,000,00
	HOT MIX ASPHALT DRIVEWAY, 2" THICK	SY	33	35,00	1,155.00
23	DETECTABLE WARNING SURFACE	SΥ	4	200.00	800.00
24	9" X 18" CONCRETE VERTICAL CURB	LF	455	36,00	16.380.00
25	TRAFFIC STRIPES, 4"	LF	550	1.50	825, <sup>66</sup>
26	TRAFFIC STRIPES, 6"	LF	440	2.50	1100.00
27	TRAFFIC MARKING LINES, 12"	1F	150	4.50	675,00

TOTAL BASE BID PRICE	721,866.25
WRITE TOTAL AMOUNT OF BASE BID	· Sevenhumfreet Twenty One Thousand Eight hundred Sixty Six Dollars/
DIS Contracting Inc	Someto Salvetoriello Twenty five Cents

# PROPOSAL FOR 2020 ROADWAY IMPROVEMENTS PROGRAM

## BOROUGH OF MONTVALE

BERGEN COUNTY, NEW JERSEY

THE UNDERSIGNED DECLARES THAT THEY HAVE READ AND UNDERSTAND THE PLANS AND SPECIFICATIONS AND PROPOSES TO FURNISH ALL LABOR, MATERIALS AND EQUIPMENT NECESSARY TO COMPLETE IN EVERY DETAIL THE WORK INDICATED ON THE PLANS AND/OR OUTLINED IN THE SPECIFICATIONS, AT THE PRICE QUOTED HEREIN.

EXCA	AVATION UNCLASSIFIED	Į.	1			
	ANTINA DIOCESSI CO	CY	100	40.00	4000.00	
9*X1	8" CONCRETE VERTICAL CURB	LF	1,000	36.00	36,000,00	
GRA		ĻF	100	36.00	3600,00	
тотя	AL ALTERNATE BID 'A' PRICE	.5	43	(100.00)	·	
WRIT	E TOTAL AMOUNT OF ALTERNATE BID 'A'	Forty	hree.Th	ousand Six hu	ndrell Dollars	] zero cent
COM	US Contracting, Inc		I	onato Saluator authorized official print name	AUTHORIZED OFFICIAL SIGNATURE	

BID SCENARIOS:	
TOTAL BASE BID PRICE	721,860.25
WRITE TOTAL AMOUNT OF BASE BID	Seven hundred Twenty one Thousand Eight hundred Sixty Six Bollars Twenty five Conts
TOTAL BASE BID + ALTERNATE BID 'A' PRICE	765,466.25
WRITE TOTAL AMOUNT OF BASE BID + ALTERNATE BID 'A'	Sevenhandred Sktyfive Thousand Four hundred Sixty Six Dollars / Twenty fix
DIS Contracting, Inc	Do notes Salvatoriello  AUTHORIZED OFFICIAL SIGNATURE

INITIAL: DS COMPANY SUBMITTING BID: DLS CONTROCTING, Inc

Bond (*), a Certified or Cashier's Check (), payable to the order of the
in the sum of 1070 Biol Amount
Dollars (\$)
which the undersigned agrees is to be forfeited as liquidated damages, and not as a penalty, if the Contract is awarded to the undersigned and the undersigned shall fail to execute the Contract for the project or to furnish the Bond required within the stipulated time, otherwise, the check will be returned to the undersigned.
The undersigned is an individual under the corporation/partnership Corporation
Laws of the State of New Tersey
having principal offices at 30 Monte Sono Rood
Fairfield NJ 07004
Telephone Number 973-661. 4(88
Trade Name of Bidder DIS Controcting, Inc
1. Signed By Donato Salvatoriello
Signature(S)
Title President
2. Signed By Lisa Salvatoriello
Signature Desa Saluatorial lo
Title Secretary
Signed This

Accompanying this Proposal is a Consent of Surety and a Bid Guarantee, in the form of a Bid

NOTE: If a partnership, all partners must sign. If a corporation, the president and at least one other officer must sign. If a proprietorship, the proprietor must sign. Proposals signed by an agent must be accompanied by a Power-of-Attorney for the Principal or Principals involved. Attach additional signature sheets in the above form, if necessary.

## ADDENDUM ACKNOWLEDGEMENT

The UNDERSIGNED, as bidder, acknowledges that he has received the following:

Addendum No.	Date
1. NON E	
2	
3	
4	
5	
6	
	4
COMPANY: DIS CONTracting.	SIGNATURE:
	iello TITLE: President-
DATE: May 28, 2020	